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UGC NET PAPER 2 NOVEMBER 05, 2017 SHIFT 1 PSYCHOLOGY QUESTION PAPER

(a) Feeling of Knowing
(c)  Retrievable memory
Code :

(1) (a) and (b) only

(3) (b) and (d) only

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.
1.  Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Concept) (Description)
(a) Type (i)  Consistent style of behaviour or emotion, a person displays
across the situations
(b) Trait (i) A cluster of many dispositions
(c) System (i) Enduring qualities that define the individual and
distinguish individuals from one another
(d) Structure (iv) A collection of highly interconnected parts of personality
whose overall behaviour reflects them being organised
Code :
@ ) © @
O O @ @ W)
@ @ @6 @) ()
@) @) @ 6 @)
@) v @) @ o
2. Which of the following is true for Tip of the Tongue (TOT) state ?

(b) Feeling that memory is available

Maintenance recoding

(2) (a) and (c) only
(4) (c) and (d) only
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3.  Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : Conditioning done using partial reinforcement schedule decreases resistance
to change.

Reason (R) : Partial reinforcement schedules influence rate of responding.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

4.  Arrange the clinical scales of MMPI - II in correct sequence.

(1) Depression — Hypochondriasis — Hysteria — Psychopathic Deviate — Masculinity-
Feminity — Paranoia — Psychasthenia — Schizophrenia — Hypomania — Social
Introversion

(2) Hypochondriasis — Depression — Hysteria — Psychopathic Deviate — Masculinity-
Feminity — Paranoia — Psychasthenia — Schizophrenia — Hypomania — Social
Introversion

(3)  Social Introversion - Hypomania — Hypochondriasis — Depression — Hysteria —
Psychopathic Deviate — Masculinity-Feminity — Paranoia — Psychasthenia —
Schizophrenia

(4) Social introversion — Hypomania — Schizophrenia — Psychasthenia — Paranoia —
Masculinity-Feminity — Psychopathic deviate — Hysteria — Depression —
Hypochondriasis

5.  Allport defined personality as :
(I) Response style (2) Social stimulus value

(3) Intervening variable (4) Thinking style
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6. Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : Increase in synaptic strength is due to the simultaneous stimulation of
pre - synaptic and post - synaptic neurons.

Reason (R) : Long term Potentiation can be induced in the laboratory by stimulating the
pre - synaptic neurons with pulses of high frequency of electricity for few
seconds.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

7.  Concepts allow us to identify things without

(1) Learning (2) Relearning (3) Recognition (4) Remembering

8.  Below given are some concepts. Indicate which is the correct sequence in terms of levels of
increasing abstraction ?

Concepts are :

(a) Negation concept

(b) Alternative denial concept
(c) Disjunction concept

Code :
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Match List - I with List - II and select the correct answer by choosing from the code given
below :

List - I List - II
(Description) (Concept)
(a) Transformation of the order of items (i) Non - specific transfer
(b) Transformation in contents of items  (ii) Learning to learn
(c) Use of coding devices and mediators  (iii) Coding
(d) Learning how to perform the task (iv) Clustering
Code :
@@ (b) (9 (d)
1) @) Gv) @ ()
() (v) @) @ @

4 O @) @) (@)

Binocular cues depend on :

(a) Combination of the images in the left and right retinas

(b) The way two eyes work together

(c) Image in either right or left eye

(d) Difference between the images in the two eyes

Code :

(1) (a), (b) and (d) only (2) (a), (c) and (d) only

(3)  (c), (a) and (b) only (4) (b), (c) and (d) only
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The correct order of the stages of Master’s and Johnson’s sexual response cycle is :
(1) plateau, excitement, orgasm, resolution
(2) excitement, plateau, orgasm, resolution
(38) excitement, orgasm, plateau, resolution

(4) excitement, plateau, orgasm, refractory

Where is Broca’s area located ?
(1) Frontal Lobe (2)  Occipital Lobe

(3) Parietal Lobe (4) Temporal Lobe

Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : Generally, performance is optimal when arousal is low.
Reason (R) : On easy tasks performance becomes optimal.

Code :

(1) Both (A) and (R) are true, (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Motivation is best understood as a state that :
(1) Reduces a drive

(2) Aims at satisfying a biological need

(3)  Energises an organism to act

(4) Energises and directs behaviour
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Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Concept) (Phenomenon)

(a) Functional fixedness hypothesis (i)  Akind of set that would make the images
of all material almost similar

(b)  Functional equivalence hypothesis (i) Mental manipulation performed on
images of objects made to be similar to
those that would be performed on actual
objects

(c) Functional manipulative hypothesis  (iii) A kind of set that would point thoughts
in the wrong direction

(d) Functional object imagery (iv) Mental manipulation performed on
images of objects which are very similar
to those that would be performed on
actual objects

Code :

@ (b) (9 (d)

® @ @ @ G)

(2) @) (@) (@v) @)

@) G @) @ o

@) v @ 0 @

Match List - I with List - II and select the correct answer by choosing from the code given

below :

List - I List - II
(Concept) (Explanation)
(a) Procedural memory (i)  Memory for facts, words, dates, names of objects
(b) Declarative memory (i) Combining several letters, words, phrases into one
“stack” of information
(c) Episodic memory (i) Memory for typing, driving, riding a bicycle.
(d) Recoding (iv) Memory about “what”, “where” and “when” of our
lives
Code :
@ (b) (9 (d)

® @ @ @) G)

() @) @& @) (i

(3 (v @) @ @

4 @ (@v) @) @
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Purposive manipulation of reinforcement contingencies, which encourage desirable behaviour,
is called :

(1) Contingency management (2) Contingency contracting

(3) Contingent reinforcement (4) Non-contingent reinforcement
Which of the following depth cue is based on muscular feedback ?
(1) Texture gradients (2) Motion parallax

(3) Accommodation (4) Light and Shadow

Nomothetic approach in personality research was mainly emphasised by :

(@) Allport (b)  Skinner (c) Cattell (d) Eysenk
Code :

(1) (a) and () only (2) (a) and (b) only

(3) (b) and (c) only (4) () and (d) only

Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : Spearman proposed the existence of specific factor of intelligence.
Reason (R) : It was observed that tetrad differences are always equal to zero.
Code :

1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

3

1)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4)

4) (A) is false, but (R) is true.

Which theory of emotion implies that every emotion is associated with a unique physiological
reaction ?

(1) James - Lange theory (2) Cannon - Bard theory
(3) Two factor theory (4) Opponent - process theory
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Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : Some people perceive wolf as dog.

Reason (R) : External features in a category of concepts are associated with each other.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

The frequency with which an operant response occurs before it is systematically reinforced,
is called :

(1) Rate of responding (2) Operant level
(3)  Orienting reflex (4) Autoclitic behaviour

An important factor which enables one to adapt to inverted vision is :
(1) Orientation (2) Active movement

(3) New learning (4) Frame of reference

defined intelligence as the ability to “see relations and to educe correlates’.

(1) Binet (2) Spearman (3) Terman (4) Boring

Which of the following statements are true about Eysenck Personality Questionnaire-Revised
(EPQ - R) and the NEO - Personality Inventory - 3 (NEO - PI - 3) ?

(a) Both EPQ - R and NEO - PI - 3 have Extraversion and Neuroticism scales.

(b)  Eysenckian Psychoticism scale correlates positively with Agreeableness, and negatively
with conscientiousness scales of NEO - PI - 3.

(c) Eysenckian Psychoticism scale correlates negatively with Agreeableness and
conscientiousness scales of NEO - PI - 3.

(d) Only EPQ - R has lie scale; NEO - PI - 3 does not have lie scale.
Code :

(1) (a) and (b) only (2) (a) and (c) only

(3) (a), (b) and (c) only (4) (a), (c) and (d) only
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Afferent and Efferent nerves are found in which of the following ?
(1) Sympathetic Nervous System (2) Para - Sympathetic Nervous System
(3) Somatic Nervous System (4) Central Nervous System

Match List - I with List - II and select the correct answer by choosing from the code given
below :

List - I
(Type of Test)

(a) Forced choice personality inventory (i)

List - II
(Example)

Minnesota Multiphasic Personality
Inventory (MMPI - 2)

(b) Ipsative Scale (i) Rosenzweig Picture Frustration Study

(c) Personality inventory with a lie scale  (iii) Edwards Personal Preference Schedule
(EPPS)

(d) Projective test (iv) Allport - Vernon - Lindzey’s Study of
Values

Code :

@ b © @

W) (v G @ 6

@ G @) 0O @

@) @ @ @) @

@) G @ @ o

Which is the correct sequence of parts of ear through which sound travels in the ear ?

(1)
(2)
()
4)

Tymphanic membrane — Stapes — Incus — Malleus — Cochlea
Tymphanic membrane — Incus — Stapes — Malleus — Cochlea
Malleus — Incus — Stapes — Cochlea — Tymphanic membrane

Tymphanic membrane — Malleus — Incus — Stapes — Cochlea

The 1986 Symposium on intelligence identified the main loci of intelligence :

(a)
(b)
(©)
(d)

Intelligence within the individual
Intelligence within the environment
Intelligence within the interaction between the individual and environment

Intelligence to be measured by psychometric measures

Code :

1)
()

(a) and (b) only (2)
(a), (b) and (c) only 4)

(c) and (d) only
(b), (c) and (d) only
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(3) ' (a), (b) 3 (c) (4) EA (b), (o) R (d)
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Match List - I with List - IT and select the correct answer by choosing from the code given
below :

List - I
(Terms)

Anorexia nervosa

Bulimia nervosa

Refractory period

Voodo Curse

@@ (b) () (d)
O @ @) (1)
(i) @) @) @)
(i) (@v) @@ (i)
(i) (v) @) (@)

List - II
(Explanation)

Sudden death occurs as terrified person’s
parasympathetic nervous system over
reacts due to which heart slows down to
stop

A resting period after orgasm, during
which a person cannot achieve another
orgasm

An eating disorder in which a person
significantly becomes underweight.

An eating disorder marked by over
eating.

The most commonly overlooked and obvious reason for forgetting is :

1)
(3)

Encoding specificity

Lack of sleep

Encoding failure

Faulty eating habits

Which of the following sequence is correctly arranged ?

ey
2
®)
(4)

Incoming information — Rehearsal buffer — Selective attention

Rehearsal Buffer — Selective attention — Incoming information

Selective attention — Rehearsal Buffer — Incoming information

Incoming information — Selective attention — Rehearsal buffer

Guide
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Tl - 1 &1 Gt - 11 & 919 gaferq sifsie 3R frafafed el o1 7&m &td gu 98t 3w 1 =9
HIT

e - 1 T - 11
(ug) (=TT )
(a) & AN () TS Fo Tl © STl S G AT hl TR TrTehT
o= wiga sk gfafshan = oar § 9% R geg &t
T s B % fore et 21 St B
(b)  egefeTEm (i) HERSE % vE faam @ srafy fas dwm afw
T: 3T WANG o fearfa § =& uga Tehar ¥
(c) 3T HHafeTd s (i) @M T foemfa fS9H AT 1 a5 9gd HH & a1 & |
(d) IS FH (iv) @M =i fagfa fed Afa agd 21y @F gl
< :
@@ (b) (o) (d)
@ @ @ Gh ()
() (@) @) @Gv) ()
@) @) (@(v) @ (i)
(4) (D) (v) @) ()

forgfa o1 gaffys ToReie fan o iR gaffus v SR § -

(1) Feds HE i fafmed (2) FHeHG HE i fatherar
(3) g =l A (4) @M &I Ffequl smed
frefafed § & =0 @1 w8 w& 8?2

(1) SAHaTel o — qara™ giaiees — fafire em
(2) yatE gfdees — fafire &M — sHere g=E
@) fafere s — qaiamg gfalives — e e
(4) SATETEl oA — faftre @M — g gfaes
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Match List - I with List - IT and select the correct answer by choosing from the code given
below :

List -1 List - II
(Concept) (Explanation)
(a) Inattentional blindness (i) Medium point of one’s personal frame of reference
(b) Habituation (i) Ingrained patterns of organisation and attention
(c) Adaption level (iii) Failure to perceive a stimulus that is in plain view,

but not the focus of attention

(d) Perceptual habits (iv) Tendency to respond less to predictable and
unchanging stimuli
Code :
@@ (b) (o) (d)
1 @@ @Gv) @O )
2 @ @O @) @)
() @) @) @) @
4)  (@v) @) @ @

Match List - I with List - IT and select the correct answer by choosing from the code given
below :

List - I List - II
(Tests) (Authors)
Cognitive Assessment Battery i)  Cattell, RB
Deviation IQ ii) Terman

( (
( (
(c) Cognitive Assessment System (iii) Wechsler
( (

d) Stanford - Binet Scales iv) Naglieri and Das
Code
@@ (b) (9 (d)
® @O @ @) (@)
(2 @ @) @) @
G) Gv) @) @ @)
@ @ (@) (@) (i)
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A - 1 SR A - 11 1 Gafaa e 3R = e 70 e # § w2 S g

et - 1

( TR )
(@) SATAYMHe 39
(b) HAFEA

() STIRAT T

b) (c)
i)

© @
(

(i)

(

(

i)

(
(
(iv)
(
(

iv)

(
(
61
(
(

~—

i) (iv) (i)
ii) () (i)

(i)
(ii)

Tt - 11

(=reEAr)

forelt =afa o Saferter ey wE o1 A% foig
e 3R e & sAafifed wfaam

TH 3EYF & Ay § fawet BET S A= ®Y
G gftenier 2 g 39 W oW Fa & &

AT iR STUREdeie Saraehi o Ufd sTaethd
¥ JeA U Fgfd

. et - 1 3R gl - 11 % |1 gafaa sifse oIk f=fafed fe 1 7@ d gL 98 S| & =901
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Read each of the following two statements - Assertion (A) and Reason (R); and indicate

your answer using code given below :

Assertion (A) : Some persons engage in activities such as collecting things, being good

listeners, or being gullible persons.

Reason (R) : In Freudian psychoanalysis, it is assumed that fixation at oral stage results

in the development of oral incorporative character.
Code :
(1
2

) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4)

4) (A) is false, but (R) is true.

A researcher wants to scale nine attitude items by the method of paired comparison. What

would be the number of pairs of the attitude items ?

1) 81 Q) 72 3) 36 4 9

Which of the following are regulated by Sympathetic Nervous System ?
(a) Dilation of pupils (b) Decreased activity of Adrenal Gland
(c) Digestion is stimulated (d) Increased Heart Rate

(e) Dryness in mouth

Code :
(1) (a), (b) and (c) only (2) (b) and (c) only
(3) (a), (d) and (e) only 4) (a), (¢), (d) and (e) only

Which of the following can cause errors in reasoning ?

(a) Premise phrasing manner

(b) Foreclosure effects

(c) Confirmation bias

Code :

(1) (a) and (b) (2) (a) and ()

(3)  (b)and (c) 4) (a), (b) and ()
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36. freAfafEa <1 sl IR (A) 3R @eh (R) I ufet 3R e ST 7T %2 &1 ST d g¢ 79
IWR ST
AR (A) : T AR <ISil o Fehetd, 3T=5 FIa1 B 3127 Hiel- el sAfer o Sieft fafaferdi
H wifera e ¥ |
e (R) : HFE & HAowe Yy § TE geEuren © fR difes whA # fEd & woasy
Hifeess gaEeH i 1 o 2 g1

<
1) (A) 3R (R) 2 & T IR (R), (A) FT T =R R
2) (A) (R fﬁ%“f%tr{ﬁ(m A) FT TE = T R
(3) (A) W& T, WA (R) T ¢ |

4) (A) 7T g, W (R) FLE B

37. g Sushdl A Sfugfa-wel o1 WA gfima g faf @ s wea 1 sifygfa-wdl & gl @
& 31 BN 2
1) 81 2 72 (3) 36 4) 9

38. wEmyfae <fer o g/ Frefafed & & = fafafed S g2

(@) ar forEmrRa (b) R TifYr fshamefierar i1 e
(c) HT=H IRt ol IS BT (d) =3 wIfa 9Ed

() HE N Yh B

< :

(1) e (a), (b) 3R (c) (2) e (b) 3R (o)

(3) 9 (a), (d) ¥R (e) (4) A (a), (o), (d) 3 (e)

39. frefafad § @ fema oo o Jfeat oot & bl €2
(a) STuRRI-ugay Ofd
(b) Traa w7 | g8 qHOH gurE
(

o) gl e

< :

(1) (a) 3 (b) (2 (a) 3 ()
(3) (b) R () 4)  (a), (b) (o)
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Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : The names of objects, days of the week, the seasons and other general facts
are all quite lasting and we do not forget them.

Reason (R) : Most of our basic factual knowledge about the world is almost totally
immune to forgetting.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

According to Skinner, which of the following are the characteristics of “Respondent
Behaviour” ?

(a) Itis elicited. (b) Itis emitted.

(c) Itis conditioned. (d) It is unconditioned.
Code :

(1) (a) and (c) only (2) (b) and (c) only

(3) (@), (c) and (d) only (4) (b), (c) and (d) only

Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : To use a computer, we must learn to pay attention to specific stimuli, such
as icons, commands and signals.

Reason (R) : Learning creates perceptual habits that affect our daily experience.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Arrange Thurston’s primary abilities in correct sequence :

(1) Verbal Comprehension; Verbal Fluency; Numerical Ability; Memory; Perceptual
Speed; Inductive Reasoning, Spatial Visualization

(2) Verbal Fluency; Verbal Comprehension; Numerical Ability; Memory; Perceptual
Speed; Spatial Visualization; Inductive Reasoning

(3) Numerical Ability; Verbal Comprehension; Verbal Fluency; Memory; Inductive
Reasoning; Spatial Visualization; Perceptual Speed

(4) Spatial Visualization; Inductive Reasoning; Memory; Perceptual Speed; Numerical
Ability; Verbal Fluency; Verbal Comprehension
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frefafaa < weml - 1feRe (A) 37K ek (R) 1 Ufet iR = ST TU e 1 3TEn i g 1o
IW ST
AMURYT (A) :  <ioll, TaTE & &, Fgell & -9 IR 71 WA= 927 Geft <relapfarss 2 € iR 31

3% Tl Jerd ¥ |
qh (R) : THR % IR § AR 31ferkien Hiferss qearenss 9 ;- foegfa 9 gofa: sje 2n ¥
< :
1) (A) 3R (R) I ¥ § (R )ﬁﬂém%l
2) (A)RER aﬁ'—hﬂﬁr%w (A) T TE =T T R
3) (A)aﬁr%m ) T 2|
(4) (A)W%,W(Raﬁ%|

R & A79R, Frefafed § 9 &9 ‘ fofan T @R’ & @& € 2
(a) ¥ FrehY &y T S 2 | (b) I IeAfSId fohan ST B

(c) T STSEH Bl T | (d) ST TS TEl B T
W :

(1) ad (a) 3R (o) (2) e (b) 3T ()

(3) ' (a), (o) AR (d) (4)  Fd (b), (o) 3R (d)

frefafed < el - sifireRer (A) 3TR deh (R) &1 Ufer 3R = fT 7T e 1 ST XA g SToAT

AURT (A) :  TRET F T ST A & AT TH ST, FAGY AR Hehaen w9 fafime

SEITeRT Tl AR LM <A1 HHEHT =1 |
qeh (R) : ST | JeNfaTeh STedl 1 o ol © a9 BAN Sfeh e/gvd guifod & 7|
< :
1) (A) 3R (R) I T € 31X (R), (A) t TE =0 T
2) (A) IR (R aﬁrw%mk) A) i & = T ¥
3) (A)aﬁr%m ) TTeTd ¥ |
(A)

4 (A W%,W(R)E%‘T%|

o i WUfHF difgeh Araarel 1 Tel A § oET :

(1) ofaes §meg; aifas garg, 3Hifche aradr; Wid; grefeqes Tfd; AT qeh; e amd
TIH

(2) dfek gaTe; afash §8eE; ifcheh Araar; Wfa; Urefaren 71fd; Tenfier dmy <eF; AFTHAHS
ED

(3)  3iifersh Frrr; afeeh wHe; Afeh YaTg; Wfd; SNTHAHS Toh; $1Teh A <3, JTcafarsh
g

(4) TR AHE F; SEAHS Toh; Wfd; Urcafares Tfd; 3tifcher drerr; snfes yarg; difaeh
qad
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Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : According to the Classical Test Theory (CTT), the true score component
and the error component of the observed score are assumed to be
uncorrelated.

Reason (R) : According to the CTT, the error component is assumed to be distributed
with a mean of zero.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4)

4) (A) is false, but (R) is true.

Arish, on a Wechsler type of scale, has a DIQ(deviation IQ) of 85. His percentile rank would
be :

1) 16 ) 34 3) 68 (4) 85

Instructions for questions 46 to 50.
Read the following paragraph and answer the five questions which follow :

A psychologist, working in the area of Learning and Memory hypothesized that a particular
drug would adversely affect the learning rate. One hundred and fifty subjects, 75 boys and
75 girls, studying in the first year of a degree college, in the age range of 18 to 20 years, were
available for the study. It was ensured that all the subjects were in the DIQ (deviation IQ)
range of 85 to 115. Three groups - A, B and C - of equal size were formed by random
assignment. Group A received high dosage of drug, Group B received moderate dosage of
drug, and Group Creceived only placebo. A list of 15 CVC trigrams, each having an association
value in the range of 50 to 70 was already prepared. Each subject was required to learn the
list upto two errorless trials using method of anticipation on a memory drum. The mean
trials required to learn the list were 12, 15 and 20 respectively. The intergroup mean differences
were statistically significant at .01 level.

Which one of the following conclusions can be drawn on the basis of the above study ?
(1) The researcher’s hypothesis has been verified.

(2) The researcher’s hypothesis has been rejected.

(8)  The researcher’s hypothesis has been partially accepted.
(4)

Inadequate data to evaluate the hypothesis.

Your Personal Exams
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44. Trafafaa < weAl - A (A) 3R @ (R) 1 9fgy 3iR = fSu T e 1 3T=mT hTd g 70
I S
USRI (A) :  Fergent Theq fagia (FAF) & JATER TA U<lich H1 T& UTdich GoHh
3R e Heres TR-He Hafed |1 S |

e (R) : .33, & ER, Jfe ek Y & AemH 9 foaafa 7mn S j
< :

(1) (A) 3T (R) S T § 3R (R), (A) i Tl H1EAT 7|

(2) (A) 3R (R) I & €, T (R), (A) T T&l AR T

(3) (A) W& T, WA (R) T 2|

(4) (A) 7T €, W (R) T B |

45. TR & IR S whew R foaaa gfg deft (SME.H,) 3 85T 1 IHH waqHs &I
et 2
1) 16 2) 34 (3) 68 4) 85

9 H. 46 9 50 &q e -
frfafaa TRme ufew iR utet weHi & S G

AT Te THROT o &5 H A Uk HAloiTeh ohi Iiehed T off foh eh it fowry rfenm sl st
gfdehet TS SR | ek |l q=H JaIsd, Tk Feift shierst o Jom o6 # S1eamRd 18 | 20 311 o
75 TSh AT 75 AS(HAT AT g SUT 9| Ig gAvEd fwa wn on f weft faweht 85 9@
115 % €t 3118 Y (Torarem o1 =RY) SR H B | AG=SIH0 H FHH SRR 6 719 FE-T, o, H =10
TT| HHE U Aok A § Situfy < T, e o 1 &wE A0 H ofufy < e g € H had
TR Sfufy < T8 1 15 | S | IRun it Uk {1 U8 & GRS gl |, o g w6
eIl Jed 50 § 70 % SRR & o4 ¥ 1 sk WA 9 TUferd ot foh 98 U AR $H W STHM
TSId T TN X QT AR T qoh hi 1 oA HiGl | /1A qH&I0 R I8 HieHT e7afaa o ff
T A 12,15 A1 20 off | TR FHE WA 3R .01 o TR W HieFH ghe ¥ Agego o |

46. U STEIA o YR R FAfAfaa § 9 wH-91 fepd fehren s wevan § 2
(1) eNeeRdl st qReETIHT ol Feartad s form 7= 7 |

2)  Virerehdl ot URehea b1 3Teaisha Y feam T ¥

)
(3) TNHeRdl St TReETTH i ST T § WRR & fon =01
(4)

4) IR T G i & T T Sihs |
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In the above study, “association value’ can be labelled as :

(a) Continuous variable (b) Controlled variable
() Organismic variable (d) Stimulus variable
Code :

(1) (a) and (b) only (2) (a) and (c) only

(3) (@), (b) and (c) only (4) (a), (b) and (d) only

Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : In the above study, the subjects have been randomly assigned to the three

groups.

Reason (R) : The independent variable is manipulated more effectively with random
assignment of subjects.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Match List - I with List - IT in the context of above study and select the correct answer by
choosing from the code given below :

List - 1 List - II

(a) Independent variable (i) Intelligence
(b) Dependent variable (i) Drug dosage
(c) Controlled variable (iii) Gender
(d) Discrete variable (iv) Trials required to learn the list
Code :
@ () (9 (d)
1) Gv) @ @) @
() @v) @) @ ()
(®) @ @) @) @
4 @@ @) @ ()

In the above study, the variance caused by Drug dosage can be labelled as :
(1) Primary variance (2)
(3) Controlled variance 4)

Secondary variance

Error variance

-00o0-
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SR 127 | Tearl qod' 1 e H | 0 e 5wk 72

(a) Hdqd = (b) TEE =R

(c) Sifssw = (d) 3IEUR =R

< :

(1) e (a) 3 (b) (2) A (a) AR (o)
(3) Ha (a), (b) 3R (c) (4) A (a), (b) 3 (d)

frefafed I e - Afke (A) T qeh (R) TfgT 3R 9 fET TT e 1 JorT & gL S™

MUY (A) : ST 31T H YA ] Agfedeh &Y 9§ i @i § siel 7 |
e (R) : TN & Agfessw ' 9 MEEia § s =R § Afs quret s ¥ -1
(AfTgerer) fera s €

(1) (A) 3R (R) SFT T € 71 (R), (A) F Tl =0 ¥

2) (A) 3R (R) I w E, T (R), (A) FF & =0 T 2
(B) (A) TR ¥, TR (R) o T

(4)  (A) T &, foheg (R) & &1

. ST 1A % Hed § Gt - 11 Gt - 11 3 e gAfera sifsie qen = T T e o1 7= &

'Y TR IW VT
el - 1 e - 11
(a) FAA @0 d9fs
(b)  STTHA =R (i)  fufy T AE
(c) THEf@ =R (i) feim
(d) A =) (iv) leTol 9§ = e eTfia o
e
@@ (b) (9 (d)
1) Gv) @) @) ()
() @Gv) @) @) (i)
@) @) (v) () ()
(4) @ @Gv) @ ()
. SWRIE FeaE B, iy il A HROT gL TR 1 T B W A el ST Gehdl § 2
(1) wrAfHess gEo (2) ISR FEO
(3) Tt e @) Ffe g
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